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60 villagers live in Smithy Lane. % are blacksmiths.
1
10 of 60 =6

There are 6 blacksmiths in Smithy Lane.

1
gare bakers and % are weavers.

How many are (a) bakers (b) weavers?
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The castle has 120 servants from the village.
% of them wear blue, % wear red, % wear yellow and
the rest wear green.
How many wear (a) blue (b) red (c)yellow (d)green?
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1There are 1460 villagers altogether.
z of them are farmers, %are builders
1
and 7gare carpenters.
How many are (a) farmers (b) builders (c) carpenters?




